5= ot Al E
MAI= 2F 2022.6
2{Alo} 5,975

>x5

Cis 2t Bt oAt (ICBM)
S H|RSEFEO[AFQ v 1 '660 i

& A EH0ALY (SLBM) | 7 \
(AT -1 1P [—— 1,

EHT|S BEET[EFRY -ovvveveeeerereesennsseneenen. ] '080 \\

T 1500 \\\\\\\ \\

—————'—'—"———

== 350
CHE7HEHD|AKY
(ICBM) 2 B|=et r Y
EREH YO U——........... 258 ((
e EA oA
(SLBM)S:2] QU] - 7.9

E-; ] 1= ] 37 vl R —— 20
ZEtA 290
Ee YA EHTo[ALY (SLBM)

SO FQUHYK| -evvvvvereeseesneseesen 240
ey P ]| 2 | [ 50

A=t 225

A48 2hA} ELEO[AKY (SLBM)

0

-800

S0| FYQEHYR| -+-vveeveeersseeeeren 275
“'Ll-al.ﬁEhl. 165 %Hl%?.!'El_I'EDIAI'% .........................
HiE 2 EmOlAr (ICBM) A48 2o} EHZOlAR (SLBM)
S HIRE EHEO[ARY 1 24 L . E O — 1,920
-5 Bl eyl S ) — 41 7107 | o =l L [ E—— .088
9—1, S x gl% o0 T L O 2l
°._|E 160 £, 5= of 1,717
CEZH Eto|Al (ICBM)
S H| RS EFTO|ARY oveeeees 84
Zrgh WA B 0[AKY (SLBM)
SO FHQHHK| --eveeveereeseeensenn 78
I ] 3 v R—— 48
o|A2t< 90
CHE7HEt0|AL (ICBM)
% HI%%._" E._l'EﬂlA}?El 50
F8t LA ELEO[AR (SLBM) HOrS QMOA|Z HIRSHA
LT 1Y —— 10 MA|2] 97| & ol Abstoj|
_§|5_7_|:|7|% -sg-_g_jlgl-xﬂ ........................ 30 AES S2a|= AlA|
o &R(100£H)
= oF 40
CHE7H Eto|Al (ICBM)
S H| 25} EFEO|ARL - oeeeeeeeeeee ?
B4g LA EtojAL (SLBM)
SO FYQEHYE] --evevevereverseesseneneen ?

A= HHEE 222 A= g cET UAFH L



